
  

 

 

B.Com. DEGREE EXAMINATION —  

JUNE, 2010. 

(AY 2004 – 05 batch onwards) 

Third Year 

Commerce 

ADVANCED ACCOUNTING 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What are the essential features of Partnership? 

 Tmhõsø©°ß ]Ó¨¦ C¯À¦PÒ ¯õøÁ? 

2. Distinguish Debentures from Shares. 

 PhÜmk¨ £zvµ[PøÍ £[SPÎ¼¸¢x ÷ÁÖ£kzv 

PõmkP. 
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3. How is purchase consideration calculated under 

Net Payment Method? 

 {Pµa ö\¾zxuÀ •øÓ°À öPõÒ•uÀ ©Ö£¯ß 
GÆÁõÖ PnUQh¨£kQÓx? 

4. Who are preferential creditors? 

 •ßÝ›ø© PhÜ¢÷uõº GÚ¨£k£Áº ¯õº? 

5. What do you mean by deficiency Account? 

 £ØÓõU SøÓ PnUS GßÓõÀ GßÚ? 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. A, B and C are partners in a firm sharing profits 

and losses in the ratio of 2:3:1 respectively. Their 

Balance Sheet as on 31.12.2008 as follows. 

Liabilities Rs. Assets Rs. 

Sundry creditors 25,000 Buildings 50,000 

Loan payable 15,000 Machinery 40,000 

Reserve fund 16,000 Furniture 10,000 

Capital  A 30,000 Stock 25,000 

              B 40,000 Debtors        18,000  

              C 25,000 (–) Provision     500 17,500 

  Cash 8,500 

 1,51,000  1,51,000 
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 C retires on 31.12.2008 subject to the following 

conditions. 

 (a) A goodwill account is created in the books of 

firm for is 24,000. 

 (b) Machinery to be depreciated by 10% and 

Furniture by 5% 

 (c) Stock to be appreciated by 15% and 

Buildings by 10% 

 (d) Reserve for doubtful debts to be raised to  

Rs. 2,000. 

 Prepare necessary ledger A/c and balance sheet of 

the firm.   

 A, B ©ØÖ® C TmhõÎPÒ •øÓ÷¯ 2:3:1 GÚ C»õ£ 
|mh[PøÍ £Qº¢x öPõÒÐ® TmhõÎPÒ. 
AÁºPÍx C¸¨¦ {ø» SÔ¨¦ 31.12.2008À 
¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£ÀÁøP PhÜ¢÷uõº 25,000 Pmih® 50,000 

ö\¾zu ÷Ási¯ Phß 15,000 C¯¢vµ® 40,000 

Põ¨¦ {v 16,000 ©µa\õ©õßPÒ 10,000 

•uÀ    A 30,000 \µUQ¸¨¦ 25,000 

               B 40,000 PhÚõÎPÒ 18,000  

               C 25,000 (–) JxURk       500 17,500 

  öµõUP® 8,500 

 1,51,000  1,51,000 
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 31.12.2008–À ‘‘C’’ RÌÁ¸® {£¢uøÚPÐUS 
Em£mk Â»SQÓõº. 

 (A) |ß©v¨¦ ¹. 24,000 HmiÀ ÷uõØÖÂ¨£x 

 (B) ÷u´©õÚ® : C¯¢vµ® 10% ©µa\õ©õßPÒ 5% 

 (C) ©v¨¦ AvP›¨¦ : \µUQ¸¨¦ 15% Pmih® 10% 

 (<<D) PhÚõÎPÒ «uõÚ JxURk ¹. 2,000 BP 
AvP›UP¨£kQÓx. 

 ÷uøÁ¯õÚ ÷£÷µk P/S ©ØÖ® C¸¨¦ {ø»U 
SÔ¨ø£ u¯õº ö\´. 

7. Ganesh Ltd., was registered on 1.7.2007 to acquire 

the running business of Ramesh and Co., with 

effect from 1.1.2007. The following was the profit 

and Loss A/c of the company on 31.12.2007. 

Particulars Rs. Particulars Rs. 

To Office expenses 54,000 By Gross Profit b/d2,25,000

To Formation Expenses  

     (Written off) 10,000

 

To Stationery and Postage 5,000 

To Selling expenses 60,000 

To Directors fees 20,000 

To Net profit 76,000 

 2,25,000 2,25,000

 You are required to prepare a statement showing 

profit earned by the company in the pre and post 

incorporation periods. Total sales for the year took 

place in the ratio of 1:2 before and after 

incorporation respectively. 
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 HØPÚ÷Á C¯[QÁ¸® µ÷©è & P®ö£Ûø¯ 
01.01.07 •uÀ GkzxU öPõÒÍ P÷nè & P®ö£Û 
01.07.2007 AßÖ £vÄ ö\´¯¨£mhx. µ÷©è & 
P®ö£Û°ß C»õ£ |mh P/S 31.12.2007À EÒÍ£i 
¤ßÁ¸©õÖ. 

Â£µ® ¹. Â£µ® ¹. 

A¾Á»P ö\»Ä 54,000 ö©õzu C»õ£® R/öPõ2,25,000

öuõhUPa ö\»Ä (JxUQ¯x) 10,000 

GÊxö£õ¸Ò ©ØÖ® u£õÀ ö\»Ä 5,000 

ÂØ£øÚ ö\»Ä 60,000 

C¯US|º Pmhn® 20,000 

{Pµ C»õ£® 76,000 

 2,25,000 2,25,000

 Tmk¸ÁõUPzvØS •ß ©ØÖ® ¤ß Dmi¯ 
C»õ£zvøÚ PshÔ¯ ÷uøÁ¯õÚ £mi¯ø» u¯õº 
ö\´. ö©õzu ÂØ£øÚ ÂQu® – Tmk¸ÁõUPzvØS 
•ß ©ØÖ® ¤ß •øÓ÷¯ 1:2 BS®. 

8. X and Y company agreed to amalgamate. Prepare 

the new balance sheet. 

Balance sheet of X Ltd. 

Liabilities Rs. Assets Rs. 

Share capital  Buildings 5,00,000 

  1,00,000 equity shares  Machinery 2,00,000 

  of Rs. 10 each 10,00,000 Patents 1,10,000 

Creditors 80,000 Stock 1,50,000 
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Liabilities Rs. Assets Rs. 

P and L A/c 50,000 Sundry Debtors 1,20,000 

  Cash at bank 50,000 

 11,30,000  11,30,000 

Balance sheet of Y Ltd. 

Liabilities Rs. Assets Rs. 

Share capital  Buildings 3,00,000 

  50,000 equity shares  Machinery 2,50,000 

  of Rs. 10 each 5,00,000 Goodwill 50,000 

Creditors 50,000 Stock 20,000 

Reserve Fund 50,000 Debtors 20,000 

P and L A/c 50,000 Cash at bank 10,000 

 6,50,000  6,50,000 

 X ©ØÖ® Y P®ö£Û²® Cøn¯•iÄ ö\´QßÓÚ. 
¦v¯ C¸¨¦ {ø»U SÔ¨¦ u¯õº ö\´P. 

X–ß C¸¨¦ {ø» SÔ¨¦ 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

1,00,000 ÷|ºø©   Pmih® 5,00,000 

 £[SPÒ ¹. 10 Ãu® 10,00,000 ö£õÔÁøP 2,00,000 

PhÜ¢÷uõº 80,000 ¦øÚö£õ¸Ò E›ø© 1,10,000 

C»õ£ |mh P/S 50,000 \µUQ¸¨¦ 1,50,000 

  PhÚõÎPÒ 1,20,000 

  öµõUP® 50,000 

 11,30,000  11,30,000 
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Y–ß C¸¨¦ {ø» SÔ¨¦ 

ö£õÖ¨¦UPÒ ¹. ö\õzxUPÒ ¹. 

50,000 ÷|ºø© £[SPÒ  Pmih® 3,00,000 

 ¹. 10 Ãu® 5,00,000 ö£õÔÁøP 2,50,000 

PhÜ¢÷uõº 50,000  |Øö£¯º 50,000 

ö£õxPõ¨¦ {v 50,000 \µUQ¸¨¦ 20,000 

C»õ£ |mh P/S 50,000 PhÚõÎPÒ 20,000 

  öµõUP® 10,000 

 6,50,000  6,50,000 

9. A Liquidator is entitled to receive remuneration at 

2% of net assets realised and 3% on the amount 

distributed among the unsecured creditors. The 

assets realised Rs. 70,00,000 against which the 

following payment were made. 

 Liquidation expenses  Rs. 50,000 

 Preferential creditors  Rs. 1,50,000 

 Secured creditors  Rs. 40,00,000  

 Prepare Liquidator’s Final Statement of Accounts. 
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 Pø»¨£õÍº ‘A’ Gß£Á¸US ö\õzx ÂØ£øÚ°À 2% 
©ØÖ® ¤øn¯ØÓ PhÚõÍ¸US u¸® öuøP°À 3% 
Fv¯©õP uµ ÷Ásk®. ö\õzxUPÒ ö©õzu ÂØ£øÚ 
ö\´ux ¹. 70,00,000. ¤ßÁ¸® ö\¾zuÀPøÍ C¢u 
ÂØ£øÚ öuõøP°À ö\´¯ ÷Ásk®. 

 Pø»¨¦a ö\»Ä   ¹.     50,000 

 •ßÝ›ø© PhÚõÍº ¹.  1,50,000 

 ¤øn PhÚõÍº  ¹. 40,00,000 

 Pø»¨£õÍ›ß CÖvU PnUøP u¯õº ö\´. 

10. Prepare a profit and Loss A/c of New Bank Ltd for 

the year ended 31st March 2007. 

 Rs. 

Interest on Loan 2,60,000 

Interest on fixed deposits 2,80,000 

Rebate on bills discounted 50,000 

Commission charged to customers 9,000 

Establishment Expenses 56,000 

Discount on bills discounted (net) 2,00,000 

Interest on current a/c 45,000 

Printing and advertisement 3,000 

Interest on cash credits 2,25,000 

Rent and taxes 20,000 

Interest and over draft 56,000 
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 Rs. 

Directors and Auditor Fees 4,500 

Interest on SB A/c 70,000 

Postage and telegrams 1,500 

Sundry charges 1,800 

 ¤ßÁ¸® ö\´vPÎ¼¸¢x {³ Á[Q°ß 2007 ©õºa 
31–®  |õ÷Íõk •iÁøh²® BskUPõÚ C»õ£ 
|mh PnUøPz u¯õ›UPÄ®. 

 ¹. 

Phß «x Ámi 2,60,000 

{ø»øÁ¨¦ «x Ámi 2,80,000 

©õØÖa ^mk Ámh® ö\´uuõÀ uÒÐ£i 50,000 

ÁõiUøP¯õÍº «x Âvzu PÈÄ 9,000 

{ÖÄøPa ö\»ÄPÒ 56,000 

©õØÖa ^mk Ámh® ({Pµ®) 2,00,000 

|h¨¦ PnUQß «x Ámi 45,000 

Aa_ ©ØÖ® ÂÍ®£µ ö\»Ä 3,000 

öµõUPU Phß «x Ámi 2,25,000 

ÁõhøP ©ØÖ® Á› 20,000 

÷©À Áøµ¨£ØÖ «uõÚ Ámi 56,000 

C¯US|º ©ØÖ® uoUøP¯õÍº Pmhn® 4,500 

÷\ª¨¦ PnUSPÒ «x Ámi 70,000 

u£õÀ ©ØÖ® u¢va ö\»ÄPÒ 1,500 

Cuµ ö\»ÄPÒ 1,800 
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11. Sunder sells goods on H.P system at cost plus 

60%. From the followings prepare Hire-Purchase 

Trading A/c. 

       Rs.  

 Jan1.    Goods out on H.P system at H.P price    32,000 

 Dec. 31 Instalments not due and unpaid 72,000 

     Instalments due and unpaid  4,000   

 The following transactions took place during the year : 

(a) Goods sold on H.P. Price  1,60,000 

(b) Cash received from customers at H.P. Price 1,12,000 

(c) Goods received back on default valued at  

   (instalment due Rs. 4,000) 800 

 _¢uº uÁøn öPõÒ•uÀ •øÓ°À AhUP ©v¨¦hß 
60% Tmi \µUQøÚ ÂØ£øÚ ö\´QÓõº. ¤ßÁ¸® 
ö\´vPÎ¼¸¢x uÁøn öPõÒ•uÀ Â¯õ£õµ P/S 
u¯õº ö\´. 

áÚÁ› 1. uÁøn öPõÒ•uÀ Âø»°À \µUS AÝ¨¤¯x 32,000 

i\®£º 31. uÁønz öuõøP ö\¾zu GÇÂÀø»  

 ©ØÖ® ö\¾zu¨£h ÂÀø» 72,000 

 uÁønz öuõøP ö\»zu ÷Ási¯x BÚõÀ 
ö\¾zuÂÀø» 

4,000 

 C¢u BsiÀ {PÌ¢u |hÁiUøPPÒ : 
(A) uÁøn öPõÒ•uÀ Âø»°À ÂØÓ \µUS 1,60,000 

(B) ÁõiUøP¯õÍ›hª¸¢x ö£ØÓ öµõUP® uÁøn 
öPõÒ•uÀ Âø»°À 

1,12,000 

(C) \µUS SøÓ£õmiß Põµn©õP v¸®£ ö£ØÓ \µUS  

 (uÁønz öuõøP ö\¾zu ÷Ási¯x ¹. 4,000) 800 
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12. The following is the Balance Sheet of X, Y and Z 

on 31.3.2008. 

Liabilities Rs. Assets Rs. 

Capital A/c  Furniture 40,000 

           X 50,000 Plant and Machinery 20,000 

           Y 30,000 Stock 40,000 

General Reserve 30,000 Sundry debtors 20,000 

Sundry creditors 40,000 Cash at bank 12,000 

  Z’s capital 18,000 

 1,50,000  1,50,000 

 Z is insolvent but his estate pay Rs. 4,000. It is 

decided to dissolve the partnership. 

 The assets realised as follows : 

 Sundry Debtors Rs. 15,000; Furniture Rs. 28,000 

stock Rs. 32,000 

 Plant and Machinery Rs. 14,000. The dissolution 

expenses amounted to Rs. 5,000. 

 Give the Accounts to close the books of the firm if 

the capitals are fluctuating. 
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 X, Y ©ØÖ® Z–ß C¸¨¦ {ø»U SÔ¨¦ 31.3.2008À 
¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ P/S   ©µa\õ©õßPÒ 40,000 

           X 50,000 ö£õÔ ©ØÖ® C¯¢vµ® 20,000 

           Y 30,000 \µUQ¸¨¦ 40,000 

ö£õxU Põ¨¦ 30,000 £Ø£» PhÚõÎPÒ 20,000 

£Ø£» PhÜ¢÷uõº 40,000 Á[Q°¸¨¦ 12,000 

  Z’ •uÀ P/S 18,000 

 1,50,000  1,50,000 

 ‘Z’ vÁõ»õÚuõÀ Tmhõsø©ø¯ Pø»¨£x GÚ 
•iÄ ö\´¯¨£mhx. ‘Z’ ß ö\õzvÀ ¹. 4,000 
©mk÷© ö£Ó C¯¾®. 

 ö\õzxUPÒ ¤ßÁ¸©õÖ ÂØP¨£mhÚ. 

 £Ø£» PhÚõÎPÒ ¹. 15,000 

 ©µa\õ©õßPÒ ¹. 28,000  

 \µUQ¸¨¦ ¹. 32,000 

 ö£õÔ ©ØÖ® C¯¢vµ® ¹. 14,000 

 Pø»¨¤ØPõÚ ö\»Ä ¹. 5,000 

 ©õÖ£k® •uÀ •øÓø¯ ¤ß£ØÔ {ÖÁÚ 
Pø»¨¤ØPõÚ HkPøÍ u¯õº ö\´. 

——————— 


